Exponentials and
Logarithms
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Properties of Exponents

Let a and b be real #'s and let
m and n be integers.
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Properties of Log & Exponentials
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FiInd the value without a calculator
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Express as a single logarthm
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Expand the following Logarithms

2 3

y

7. log=




olve Exponential &
ogarithmic Equations




Solving Equations with Common Bases:
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Example 1: Solve the Equation
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Example 2: Solve the Equation
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SOLVING EXPONENTIAL EQUATIONS WHEN
YOU CAN'T GET A COMMON BASE
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Properties!!!!

The Product Rule: log,MN =

Rememlber your Logarithm
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Solving Logarithmic Equations
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Condense to o simle (og (=€
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5. log, 4 x @ log,(x + 3) = 4
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